normalized X?

107t —————————{Enwes

Mean

X2

0 2 4 6 8 10 12 14 16 18 20

[ normalized x? probability |

0.6

0.5F--:---

Entries
* | Mean 0.1584
Std Dev. 0.276.

0.4

0.3

0.2

Ratio

1.9 || ”
1.2 I “

‘||"' | \'\'UJ\ |

mmmem DQM_mkFit_baseline_lowPT
e DQM_mkFit_baseline6iter_lowPT
wmmm= DQM_mkFit_TT_RetrainV2_WP1_6iter_ep3_lowPT
IS — 5
< E M £ ETH
< 4.5F- - A 4E--H-1H-
Ny E ] - E !
= 4F iif 2 3F Wik
v E ! - E 3
35t o 2Eft
32__ [ v 1;_ ¥ i
2.50-4fF - oF-H- il
E E H Tt
2F -1 i 11 H
15f -2f-ff- 1
¥ - T
0 : ~aE-{f-H-
o OF j o -5k ! '
T T 15F B -
x et - o ! :
i 1 9 H
0.9F 4 - osE -3
0832 0 1 2 3 B a1 01 3
n TP n (PCA to beamline)
A 5 A
= 218
=< %< 1.6
Vv \%

o _w o N o

N

g
A 4AF
A
- 3:_
o F
o 2B
\% E
iE-
oF-
-
_2;_. E.
_32_. :
_4;_.
o -5t i i
g 4 b B EEPPPPFPPRRPRS
x ]
B o Y 1 o I S
H R :
0 = 3
107 10 10% Jo

i
T T[T [T [T T I [T TIT T

Ratio

10°° 1072 107
AR(track, ]et?



	Contents
	Page 1


